

NHÂN MỘT SỐ VỚI MỘT TỔNG

MULTIPLYING A NUMBER BY A SUM

$$a \times (b + c) = a \times b + a \times c$$

1. Tính giá trị của biểu thức rồi viết vào ô trống (theo mẫu):

a	b	c	$a \times (b + c)$	$a \times b + a \times c$
4	5	2	$4 \times (5 + 2)$ $= 4 \times 7$ $= 28$	$4 \times 5 + 4 \times 2$ $= 20 + 8$ $= 28$
3	4	5	$3 \times (4 + 5)$ $= \times$ $=$	$3 \times 4 + 3 \times 5$ $= +$ $=$
6	2	3	$\times (+)$ $= \times$ $=$	$\times + \times$ $= +$ $=$

2. Tính giá trị của biểu thức rồi viết vào ô trống (theo mẫu):

a	b	c	$a \times (b + c)$	$a \times b + a \times c$
$\frac{1}{5}$	5	2	$\frac{1}{5} \times (5 + 2)$ $= \frac{1}{5} \times 7$ $= \frac{7}{5}$	$\frac{1}{5} \times (5 + 2)$ $= \frac{1}{5} \times 5 + \frac{1}{5} \times 2$ $= \frac{5}{5} + \frac{2}{5}$ $= \frac{7}{5}$
$\frac{1}{3}$	4	5	$\frac{1}{3} \times (4 + 5)$ $= - \times$ $= -$ $=$	$\frac{1}{3} \times (4 + 5)$ $= - \times + - \times$ $= - + -$ $= -$ $=$
$\frac{1}{6}$	2	3	$\frac{1}{6} \times (2 + 3)$ $= - \times$ $= -$	$\frac{1}{6} \times (2 + 3)$ $= - \times + - \times$ $= - + -$ $= -$